
Вывести формулу решения квадратного уравнения 
в случае, если коэффициент b - чётный, т.е. b=2k 
a ∗ x^2 + 2k ∗ x + c = 0
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a ∗ x^2 + b ∗ x + c = 0

D=b^2 - 4ac 

if (D>=0)
x1 = (-b - VD)/(2a)      
or      
x2= (-b + VD)/(2a) 

else
решений нет

b=2k

D=(2k)^2 - 4ac=4k^2-4ac=
=4(k^2-ac) 
VD=V(4(k^2-ac) )=2V(k^2-ac)

половинчатый дискриминант
(четвертичный)
D*=k^2-ac

x1 = (-2k - VD)/(2a)=
=(-2k - 2V(k^2-ac))/(2a) =
=2(-k - V(k^2-ac))/(2a)  =
=(-k - V(k^2-ac))/(a)=
=  (-k - V(D*))/(a)
or      
x2= (-2k + VD)/(2a) =
=  (-k + V(D*))/(a)

a ∗ x^2 + b ∗ x + c = 0
b-чет
D*=(b/2)^2-ac
x1 =(-b/2 - V(D*))/(a)
x2 =(-b/2 + V(D*))/(a)
формулы половинного 
дискриминанта


